Matematika pro ekonomy / Mathematics for economists
Domaci kol 4 / Homework 4
Limita funkce I / Limit of a function I

Vypoctéte limity nasledujicich vyrazii v zadanych bodech / Find the limits of
the function in the given points:

1. lim 2£2: a) 2 — 400, b) 2 — —00, ¢) x — 0,d) 2 — 3+, €) z — 3—

2. lim 2% a) © — +o0, b) z — —00, ¢) 2 — 0+,d) . — 0—, e) 2 — 3

3. lim =1
—x

;a)x — 400, b) r — —o00,¢) x = 24+,d) x — 2—,e) T — —2

4. limfff;a):v—>—|—oo,b)x—>—oo,c):v—>2+,d):v—>2—,e):v—>0

5.limf:T_35;a)a:—>—|—oo,b):c—»—oo,c):c—>—3—|—,d):c—>—3—,e)z—>1
6. lim 231 a)  — 400, b) 2 — —00, ¢) z — 0+,d) z — 0—, e) z — 1
2?41,

7. lim 555 ) ¥ — +00, b) # — —o00,¢) x — 0

8. lima? — 42?2 + 8z — 3;a) © — 400, b) * — —00,¢c) z — 0
9. limvaZ —1;a) z — +o0,b) 2 — —oc0,¢) x = 1+,d) 2 — —1—,e) 2 — 0
10. lim ¢/z + 3; a) * — 400, b) £ — —00

11. lim V;iTS; a) x — 400, b) x — —o0,¢c)x — 1+,d) z — 1—
12. limj%;a):c—>+oo, b))z — —oc0,¢) x — 3+,d) z —> —3—,¢) x — 3—,
f)x — -3+

Reseni / Solution:

1. a)1,b) 1,¢c) =3, d) 400, ) —o0,

2. a) —1,b) —1, ¢) +o0, d) —o0, €) %

3. a) —2,b) =2, ¢) —o0, d) +o0, €) —2
4. a) —oo, b) +00, ¢) —o0, d) 400, €) 1
5. a) +00, b) —00, ¢) +00, d) —o0, €) —1
6. a)0,b)0,c) —o0,d) —o0, €) 0

7. a)0,b)0,¢) %

8. a) 400, b) —o0, ¢) —3

9. a) +oo, b) 400, ¢) 0, d) 0, e) neni definovano (0 je mimo definiéni obor ani
neni jeho koncovym bodem) / not defined (0 is neither in the domain of definition
nor it is its endpoint)

10. a) o0, b) —o0
11. a) 1,b) —1,¢) +o0, d) —oc0

12. a) 4, b) —4, ¢) 00, d) —o0, e)+{f) neni definovano (v obou piipadech je
zadéna limita pro  mimo definiéni obor) / not defined (in both cases, the required
limit is for 2 out of the domain of definition)

ONLY FOR STUDENTS OF THE CZECH COURSE - K dalsimu
poéitani: Na konci kapitoly 2 ze Zluté ucebnice, tloha 1 d-m, 2 a—c, j-1, 3 a, d, h.



